S HRTERL

BTESE T (W4T Ti%) 100mi 7=y

-BIEBET LREET t=50mm 100m 257-Y)
xS g By HyE w5

SBETLUT m 100.0

SR NET m 100.0

T54<—I m 100.0

MEEET m 100.0

RESET m 100.0




> B R E R W
BTESE T (W4T Ti%) 100n 7Y
#7250/ H 100m 27-Y)
xS ik By HyE w5
TR—ARHEES A 2
HIKIEXE A 4
LEEER A 2
HERME FH x % 12|HHIEH . RER CHERE
BTESE T (W4T T%) 100m 7Y
S EFBASEALIET 50m/H 100m 7Y
xS ik By HyE w5
TAR—ARHEES A 2
HIKIEXE A 4
LTEEER A 2
HELER—R BELAILLR—RFRZERLE kg 111.0{1.00kg/m X 100m x AR 11%
HEME FH x % 12|HHIEH . RER . CHERE
BTESE T (W4T T%) 100m 7Y
~J54<—I 150mi/H 100m 247-Y)
xS ik By HyE w5
TR-REER A 0.67
LTEFER A 1.33
WKFAETSA<— BHELAIILI—IFPRIFR L E kg 18.0{0.15kg/m x 100m X 0:X20%
HEME FH x % o|EFESEK HERRE




BESE T (Rt Ii%)

HEEET t=50mmGEXWFHHMIT EmEHET) 12m/H

100m 7=y

100m&7-Y)

xS ki By HyE w5

TR-REER A 8.33

HIHREXR A 16.67

LTEFER A 16.67

EEX A 16.67

TEEEE/ILRILM BELAINFEFRLLE ke 10,588 (1,925kg/ m x t=0.05m X 100m x 0:210%
REIFEH Th F—HEILIVTDY FEERBEI3/15kVA| & 8.33

T Traviyy 5.0m/min =]=| 8.33

HME F7% x % 20|23 ¥4 ARUT | A h—R Bkt

BTESE T (W4T T%) 1007y

-EEHET 150m/H 100m 7=y
xS g By HyE w5

TR-REER A 0.67

LTEFER A 1.33

AT L IFRIF-BER] (BELALI—MFARFRUL ke 6.0[0.15kg/m X 100M X 0:220%

EHE FH x % 5|EZRBH. HENRE

BTEEE T (WAt Ii%) IG=E =D

RUREEH Th FA—ELIIU HARSEE (IR BB E13/15kVA 18ANEY
m pTkia] Bifs 2 wE

i AN =BV wo:: L 17.26

REIFEH Th T4—ELIV DY FEREBEIS/I5KVA|  H 1.0

HAEE FRH x % 20(IEZRBH HENRE

BTEEE T (Wi Ii%) IG=E =D

~ToorarvFlyy HRHARR R (B IREEME) Th AEHH5.0m/min I :EN=D
m pTkia] Bifs 2 wE

i AN =BV wo:: L 51.05

T TraviLyy A& 5.0m/min =] 1.0

mAEE IR x % 20




Bihigs T
SMUIAURIE T

1#&:E9 (8.1m) H=Y)

1#8:E4 (8.1m) &f=Y)

e ki By HyE e
TR-REER A 1.0
HIHREXR A 1.0
LEEXE A 40
SM>—)L#t L 5.25
SMTS5A<— & 1
N7 TR m 8.1
NURS Y —18H | 1
NURHYE—ER =] 1
HEFEERIEN 2kVA A 1




